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KEY ANSWERS FOR OBJECTIVES

( PART : A—OBJECTIVE )

1. Put a Tick (v) mark agélinst the correct answer in the
brackets provided : 1x10=10

(a} (i) least metallic content of an ore body
(b) (i) metamorphism

(c) (iii) gravity settling

(d) (iv) pyrite

(e) (i) bonded hematite quartzites

(f) (iii} sphalerite

{g) (i) hexagonal system

(h) (i) selenite

(i) (i) Tikak Parbhat sandstones

() (iij) Mahadek sandstones

/481K



(2)
2. Tick (v) True or False in the brackets provided : 1x5=5
(a) True
(b} False
(c) True

{d) True

fe)} False
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